oa—pba—xO0V550a R (E19—)L)

2021%48H1H~8H31H 3 5%DAE. [HHEIILTVT— REAR] ITCBMTEET,
— . : (10462 7S5hUBET BHERISR)
BEAE A TLRYF7AHX (HDCPLRE - $THHIRE L) BLA-N: &< *x * * ok * ok * ok * ok * ok
By tDZGE OR—N\>T4 QFERIE (CTIEfZRE IFE D@D BDHB B DB O %+ M1 aJ®JEJI®aae REAS)] 3—R: &HSIYAVRY—HFT
XIELAR—LIE, &< H5a—X 12/ h—JL - £a—R 8h—JLTHRE ok ok % * * ok ok ok BfER : 202112818 (K) - 78 () - 108 (&)
XEI—ZDRAITIE. GROSS-HICP-NET % ZhEhi. 56 LiEM Mt DR@ADB® BEQO®OQ OO ® HRBAROBHEEBSNESFIS, RACRNEBEN-LFT,
[=tiva PR E®R |[7v-8| 1-2 | BI# | 23 |GROSS| HDCP | NET [=Yiva mEES |(7v-8| 1-2 | 83 | %3 |GROSS| HDCP | NET [[=Fiva wiRES |7v-8| 3-2 | ®id | &3 |GROSS| HDCP | NET
T EEER 8/20 | % 21] 18] 58.5] 7.2] 51 3% GEIREEEES 8/8 =< i 34] 32| 66 10.8] 552 20 | FH/NT 8/23 &< 5| 33] 36| 69 12.0 57.0
ERE R4 8/28 | % 24 21 67.5] 16.2] 51.3 % 0 | TIF 8/11| % 78] 28] 84 78.8] 557 20/ | HJA 8/28 &< | 40| 35 75 18.0] 57.0
3 | FhLS 8/24 | 3% 26] 25 76.5] 25.2] 51.3 % 6ot ¥ 4 8/25 =< 5| 28] 31| 59 3.6 554 123 | ho o< 8/29 &< | 32| 30| 62| 4.8 572
R 8/24 | % 251 26] 76.5] 25.2] 51.3 % 64tz |7 Uk 8/25 &< 5| 29| 30| 59] 3.6 554 e 8/4 &< 5 35 33 68 10.8 57.2
rPEE 8/27 | % 19 19] 57| 5.4] 51.6% 650 | HxA 8/23 [ &< 5| 31| 28] 59] 3.6 554 1250 | FhHJ 8/31 &< | 33| 35| 68 10.8] 57.2
BFEEDER 8/11 | % 9] 18] 55.5] 3.6] 51 9% CAEGE 8/15 &< 5| 31| 28] 59] 3.6 554 REPE 8/5 &< 39] 41| 80| 22.8 57.2
IR 8/25 =< 5| 35| 28] 63 10.8 52 2/% 6/ 794 8/21 | % 18] 25 64.5 9.0/ 555 7 W< 5 8/3 | % 18] 19 555 1.8 57.3
8 | FAA 8/29 | % 2] 26 72| 19.8] 52. 2 4 66f |7 AL 8/22 | % 25 18] 64.5 9.0] 55.5 1280 | FHLs 8/6 | 3% 72 21| 645 7.2] 57.3
S 8/4 | % 18] 16| 51| -1.8] 52 8% 60tz | JILJAY | 8/26| % 26] 23] 73.5] 18.0] 55.5 200 [T AA S 8/25 | 3% 22 21| 645 7.2] 57.3
IFEEPE 8/70 =< 5| 30| 30] 60| 7.2] 52.8/% 06 | 7H<Y 8/4 | % 24] 25 73.5] 18.0] 555 % 130/ | L5 h= 8/10 | 3% 24 25 713.5 16.2] 57 3%
IEEEES 8/10| 3% 19 21| 60| 7.2 52.8 T 758 8/4 =<5 37 39 76| 20.4 556 KIERERE: 8/20 | 3% 30 31| 91.5 34.2] 57.3
PEER 8/8 | % 19 21| 60| 7.2 52.8 ISEE 8/70 =< | 41| 35| 76| 20.4 556 320 A1) T 8/11 =< 5| 27| 28] 55 2.4 57.4
KEEED) 8/17 | % 21 19] 60| 7.2] 52.8 T3 A JTx 8/5 &< 32 31| 63 7.2 558 33 |2vow 8/25 &< 5| 29| 32| 61| 3.6 574
EFEERES 8/11 =< 5| 40| 32| 72| 19.2] 52.8 T F AR 8/5 | % 21 21| 63| 7.2] 55.8 T3 NS5 8/21 &< 5| 30 31| 61| 3.6 574
5 | FOF 5 8/23 &< 5| 30| 29| 59| 6.0 53.0 756 A o< 8/15 | % 22 20 63| 7.2] 55.8 350 |7 95 8/28 &< | 33| 34 67 9.6 574
6 |F9EF 8/5 | % 24 27| 76.5 23.4] 531 766 R 9T 8/1 =< 32 31| 63 7.2 558 136/ |/~ 8/23 &< 5| __33] 34 67 9.6 574
T Lo 8/21 =< 5| 31| 27| 58] 4.8 532 NGEPES 8/T &< 35 34 69 13.2] 558 37 | H A 8/11 =< 5| 31| 29| 60| 2.4 57.6
8 | HJR 8/8 | % 18] 20] 57| 3.6 53.4 78 | ESVV 8/27 &< 5| 38 31| 69 13.2] 558 1380 |RAV 8/20 &< 5| 29| 31| 60 2.4 57.6
0% [N EF 8/27 =< 5 36| 27| 63 9.6 534 9% | FARD 8/31 | % 27 21| 72| 16.2] 55.8 39 |7~ 8/15 | 3% 22 20| 63 5.4 57.6
00 AX=—> 8/22 | % 2] 22| 66| 12.6 53 4 % 80 | XF 8/25 =< 5| 30| 32] 62| 6.0 560 % 00/ | 5<5A 8/6 | 3% 22 20] 63| 5.4 57 6%
AEDE 8/11 | % 22 22| 66| 12.6] 53.4 81t | F AR 8/25 =< 5| 30| 32| 62| 6.0 560 T | 74% 8/28 =< 5| 35| 31| 66| 8.4 576
267X TE 8/25 =< 5| 31| 31| 62| 8.4 536 R EED] 8/8 &< 5| 34] 34 68 12.0] 56.0 IFEEYE: 8/23 [ &< | 34| 38| 72| 14.4 57.6
BE | T54 8/25 &< 5| 33| 35| 68 14.4 53.6 83 o Ov< 8/20 &< 5| 30| 35| 74| 18.0] 56.0 T EEDEE 8/26 | % 24 24 72 144 57.6
W AR 8/25 &< 5| 30| 38| 68 14.4 53.6 84 |7 A< 8/21 &< 5| 39| 35| 74| 18.0] 56.0 T | =X5 = 8/25 | % 24 24 72 144 57.6
%5 B~ A 8/22 | % 9] 18 55.5| 1.8 53.7 8 T AT 8/27 | % 21 20| 61.5 5.4 561 450 | 7<hA 8/11 =< 5| _34] 31| 65 7.2] 57.8
6 | F=4 8/20 | % 23] 20| 645 10.8) 53.7 861z | /< AA 8/11 | % 21 20| 61.5 5.4 561 460 |7 5T 8/11 =< 5| 35| 36| 71| 13.2] 57.8
RS 8/11 | % 23] 20| 645 10.8) 53.7 IET X 8/28 =< 5| 36| 31| 67 10.8] 562 T R4 8/21 =< 5| 39| 38| 77| 19.2] 57.8
2% 72T 8/11 =< 5 27| 28] 55| 1.2 53.8 A EY 8/23 &< 5| 38 29| 67 10.8] 562 18 Ry 3 8/27 &< | _44] 39| 83 25.2 57.8
29f. AJEFR 8/23 &< 5| 30| 31| 61| 7.2 53.8 8 A F 8/28 =< 5| 34| 33| 67 10.8] 562 090 | F9E F 8/5 | 3% 2120 61.5 3.6| 57.9
I IELYN) 8/15 =< 5| 32| 29] 61| 7.7 53.8 % 0 | JILFT 8/29 &< 5| 38| 35 73] 16.8] 56.2 % 5002 |+ h A 8/8 | % 21] _20] 61.5| 3.6] 57.9/%
3 |7 A< 8/21 =< 5| 27| 27| 54] 0.0 540 9tz | FANE 8/T &< 5| 38] 35 73 16.8] 56.2 51fe | £ 8/25 | % 24 17| 61.5 3.6] 57.9
2 To5hY 8/25 =< 5| 31| 29| 60| 6.0 540 WV | FHAOT 8/10 | % 22 18] 60| 3.6 56.4 52 | Fhbs 8/27 | % 24 23] 70.5] 12.6 57.9
B A5 5 8/11 | % 21 21| 63] 9.0] 54.0 03 o av< 8/29 =< 5| 27| 33| 60| 3.6 564 53 | av FY 8/15 | 3% 25| 22| 70.5] 12.6 57.9
R 8/8 | % 200 22| 63 9.0] 54.0 RS 8/23 &< 5| 31| 35 66| 9.6 56.4 50 | JF 8/28 | % 25| 22 70.5 12.6] 57.9
Bt I <AL 8/27 | % 23] 19| 63] 9.0] 54.0 05f A RE K~ 8/8 | % 23 23] 69 12.6] 56.4 55/ O/ 9F | 8/2 =<5 33] 31| 64 6.0 580
A 8/28 [ =< 5| 34| 32| 66 12.0] 54.0 9% |7 AR 8/23 =< 5| 32| 40| 72 15.6] 56.4 5602 | F7F 5 8/29 &< 5| 34] 30| 64 6.0 58.0
3 =2/ 8/25 =< 5| 30| 35| 65 10.8] 54.2 07 YU~ 8/7 &< 5| 40| 38 78 21.6] 56.4 HFEEERS 8/31 &< | 32| 32| 64 6.0 58.0
B T NS 8/22 &< 5| 33| 32| 65 10.8] 54.2 98t | AAN 8/23 | &< | 41| 43| 84 27.6 56.4 1580 | A HEF 8/8 | &< 5 34] 36 70 12.0] 58.0
39 | ESV 8/29 &< 5| 37| 34| 71| 16.8] 54.2 0 [ ATH 8/29 &< o] 43] 41| 84 27.6 56.4 50/ £S5 8/21 &< 5| 35| 35 70| 12.0] 58.0
0 | FhA 8/29 | % 21 20] 61.5] 7.2] 54 3% 00/ |~ =X 8/6 | 3% 32 26] 87 30.6 5644 ¥ 600 |7 HhY< 8/27 &< 5| 43| 33 76| 18.0] 58.0 %
1 | Fhbs 8/1 | % 23] 24 70.5| 16.2 543 01 754 8/22 | % 39 25| 96| 39.6] 56.4 A 618 [ RTH 8/21 &< 5| _44] 50| 94 36.0] 58.0
0 R4 8/20 | % 25 22| 70.5] 16.2] 54.3 RV 8/25 =< 5| 29| 30| 59| 2.4 56.6 ] 600 —v 4 8/7 | % 21 25| 69 10.8] 58.2
RS 8/1T &< 5 29] 29] 58 3.6 544 Y 8/27 &< 5| 35| 36| 71| 14.4 56.6 & 63 A5 5 8/25 | % 23] 23] 69 10.8] 58.2
14 |7 A< 8/15 =< 5| 30| 33| 63 8.4 546 04 |7 5k 8/22 =< 5| 35| 36| 71| 14.4 56.6 64 "y 3 8/T &< 5| 36| 39 75 16.8] 58.2
15 |24 8/28 | % 3] 26] 87 32.4 54.6 T |05 A 8/23 << o 40| 31| 77| 20.4] 56.6 650 | A > 7 8/21 &< 5| 39| 36| 75 16.8] 58.2
16 |75/ 8/25 =< 5| 30| 32| 62| 7.2 548 1060 |7 hLs 8/28 | % 22 23] 67.5] 10.8] 56.7 6602 |~ <5 8/28 [ &< o] 36| 39| 75 16.8] 58.2
17 AREFR 8/11 &< | 34| 28] 62| 7.2 548 0 [ Fo7 o4 8/10 | % 25 20| 67.5] 10.8] 56.7 61 754 8/28 | 3% 20 29| 87 78.8] 58.2
8 | 2vo~ 8/8 | % 7] 22] 58.5| 3.6 54.9 108 | #4 € 8/21 | % 26] 25 76.5] 19.8] 56.7 680 T Hho< 8/29 &< 5| 35| 33 68 0.6 58.4
9% | HINE 8/28 | % 22 23] 67.5] 12.6] 54.9 100/ |4/ 8/21 | % 28] 23] 76.5] 19.8) 56.7 1690 | k5 8/T &< 5 35 33 68 0.6 584
5002 |75/ 8/27 | % 24 21] 67.5] 12.6 54 9% 0 |~ =X 8/6 | % 32] 25 855 28.8 56. 7 % 70 |~FHho 5 | 8/22] X 25| 6] 76.5 18.0] 58.5/%
5w AR 8/25 =< 5| 31| 30| 61| 6.0 550 i | FhAY< 8/27 =< 5| 37| 33| 10| 13.2] 56.8 71 | BSoons | 8/29 =< 5 33] 33 66 7.2 58.8
AR 8/28 | % 20 18] 57| 1.8] 5.2 T | JILTT 8/29 &< 5| 38| 38| 76| 19.2] 56.8 T2 | Fhbs 8/12 | 3% 26] 24| 75 16.2] 58.8
b3t |7~ 8/1 &< 5 31| 29 60| 4.8 552 R 8/25 | % 18] 20] 57| 0.0] 57.0 T3 54 8/21 | % 27 23] 75 16.2] 58.8
54 |4/ 9T 8/25 &< 5| 34| 32| 66 10.8] 552 i 7~ 8/28 | % 171 21| 57| _0.0] 57.0 74 |EZ D 8/17 =< 5| 39| 39| 78 19.2] 58.8
DR 8/11 << 5| 35| 31| 66 10.8] 552 15 | 5 8/7 &< 5 34 29 63 6.0] 57.0 5 | A<bs 8/8 | % 78] 28] 84 725.2] 58.8
56 A<3> 8/8 | % 21 23] 66 10.8] 55.2 16/ | U< P A 8/25 &< | 32| 31| 63 6.0] 57.0 NEEPEETS 8/25 =< 5| 33] 32 65 6.0 59.0
57 O <AA 8/0 | % 23 21| 66 10.8] 55.2 e |75/ 8/22 &< 5| 29| 34 63 6.0] 57.0 IREYE 8/15 | &< 5] 36| 29] 65 6.0 59.0
581 | F AV 8/27 =< 5| 35| 31| 66 10.8] 552 T8l |75/ 8/29 &< 5| 32| 31| 63 6.0] 57.0 780 | Ao~ 8/23 &< 5| 40| 37| 77 18.0] 59.0
50 |70 < 8/23 &< 5| 31| 35| 66 10.8] 552 T RV T 8/8 | % 23] 21| 66| 9.0] 57.0 79 |4 %= 8/11 &< o] 46] 37| 83 24.0 59.0
602 | V< E R 8/5 | &< o] 33] 33 66 10.8 55 2 % 20/ %o 5= 8/21 | % 22 22] 66| 9.0] 57.0% EFRERES 8/20 &< 5| 39| 44 83 24.0 59.0 %

P-1 FHSY3—Fra—XA



oa—pba—xO0V550a R (E19—)L)

2021%8H1H~8H31H F35%DAIE. [HEILTVT— RERR] I2C8MTEET,

— _ i _ 104 7SHRYKBET FHEZERKRI68)
BEAE A TLRYF7AHX (HDCPLRE - $THHIRE L) BLh-l: &< * * * % * ok * ok * %k * %k

Bty bDIFGE ODO—nN2T4 QERIE ICTIERZERE AEDOR@DBO®D®O  #%F (dd @ d@Jd® Jd@® REEAL] 2—X: kHSYHBVRY—H5D
XELAR—ILIE, < Ha—X 127k—JL - #£aA—R 8KR—ILTHRTE J ok ok x * * k ok ok Bif#ER : 2021&F12H81H (k) - 78 (k) -10H (%)
X I—RDRA T L. GROSS-HDCP-NET % Zh Zhi. 56 LIRS Bt DQRDB® B D®OQ© OO ® HRBAROBHEEBSNESHIC, RACRNEHEANELES,

JIE 2 &R |7-8| 1-2 | BT | %3 |GROSS HDCP | NET JE L BEE® |7v-8| 1-2 | BT | %3 |GROSS| HDCP | NET JIEfz BEREELZ |70-B| 1-2 | BT | #3 |GROSS| HDCP | NET

18160 | A= /Ny | 8/29 &< ] 40 43]  83] 24.0] 59.0 200 | AJE KR 8/23 &< | 43| 40| 83| 20.4] 62.6

182/ |74 % 8/28 | % 22| 21| 64.5 5.4 50.1 I 8/21 =< 41| 42| 89 26.4] 62.6

ERFEPINE 8/15 | % 24| 25| 73.5 14.4] 59.1 2036 [ FANT 8/23 &< 5| 35 35 10| 7.2] 62.8

84 v J < 8/7 =<5 41| 41| 82 22.8] 59.2 204t &) 8/21 =< | 49| 45 94 31.2] 62.8

85 | WA 8/26 |= < 5| 43| 39| 82| 22.8] 59.2 2056 | FhLD 8/10 | % 27] 21| 72| 9.0] 63.0

860 | A< 5 8/3 | % 22]  20] 63| 3.6] 59.4 2060 [T A< 8/8 | % 25 23] 72| 9.0 63.0

816 |75/ 8/8 | % 20 22| 63| 3.6] 59.4 IR 8/28 | % 27] 27| 81| 18.0] 63.0

188 | X424 8/8 | % 19] 23| 63| 3.6] 59.4 208 | AExT P 8/29 =< | 43| 44| 87| 24.0] 63.0

180fL (=57 8/25 |= < 5| 38| 31| 69] 90.6] 59.4 2806 |Rv < 8/29 =< 5| 46| 47| 93] 30.0] 63.0

N ERE 8/1 | % 25| 23] 72| 12.6] 59.4 % 2500 A Y& 8/26 |= < 5 48] 51| 99] 36.0] 63.0/%

9160 | AD A 8/25 |= < 5| 31| 36| 671] 7.2] 59.8 EEER: 8/26 |= < 5| 60| 45 105 42.0] 63.0

EZFERE 8/10 =< | 37| 36| 73] 13.2] 59.8 252f | L5 & 8/24 &< 5 46| 39| 85 21.6] 63.4

1936 | £1) 8/21 &< | 37| 36| 73] 13.2] 59.8 2536 | AAE KR 8/22 &< 5| 56| 57| 113] 49.2] 63.8

194/ [Ny 3 8/22 =< 5 39| 40| 79] 19.2] 59.8 254 TR 8/11 =< | 39| 43| 82] 18.0] 64.0

195 | hTHD 8/23 &< | 49| 42] 91| 31.2] 59.8 2550 | ~Nv 3 8/22 &< | 44| 44| 88| 24.0] 64.0

196z |—> ¥~ 8/23 |& < 5| 39| 33| 72| 12.0] 60.0 2560 | R 8/7 &< 48] 33| 81| 16.8] 64.2

96 | FHhLs 8/20 | % 27| 25| 78] 18.0] 60.0 2575 | F 1) 8/15 | % 26| 30| 84| 19.8] 64.2

198 | =V Lo 8/10 | % 27| 25| 78] 18.0] 60.0 2580 |7 A X 8/28 | % 30| 25| 82.5 18.0] 64.5

EEEY: ) 8/31 =< | 38| 40| 78] 18.0] 60.0 2506 [EZ D 8/17 &< | 40| 45 85| 20.4] 64.6

2000 | RO & 8/10 | % 29] 35| 96| 36.0] 60.0 % 2600 |V = X 8/6 | % 54| 41 142.5 77.4] 65 1 %

201 ¥/ o< 8/7 =<5 39| 38 77| 16.8] 60.2 2611 |NITH 8/23 |& < | 44| 44| 88| 22.8] 65.2

2006 |7 2T 8/11 &< | 38| 39| 77| 16.8] 60.2 2606 [T A< 8/29 =< | 45| 42| 87 21.6] 65.4

203 |7 A< 8/21 =< | 43| 40| 83| 22.8] 60.2 2630 |7 A< 8/21 &< 5| 54| 56| 110] 44.4] 65.6

204 AT 8/1 &< 38 32] 70| 9.6] 60.4 2600 | HEA 8/23 &< 5| 50| 47| 97| 31.2] 65.8

205 |o<Jo 0 8/15 |= < 5| 36| 40| 76| 15.6] 60.4 2650 |4 J 7R 8/22 &< 5 59| 55 114] 48.0] 66.0

206f2 | E ) 8/23 =< | 42| 40| 82| 21.6] 60.4 2660 | JILT ) 8/1 | % 29] 19| 72| 5.4 66.6

2076 | FANE 8/1 &< 40| 42] 82| 21.6] 60.4 2671 | JF 8/28 | % 34 32| 99| 32.4] 66.6

EERER 8/20 | % 9] 25| 66 5.4 60.6 2680 A UN 8/8 | % 30| 27| 85.5 18.0 67.5

2006 |74 * 8/28 &< | 32| 31| 69 8.4 60.6 2606 | UAh D 8/23 &< 5| 41| 46| 87 19.2] 67.8

2106 7R 9F 8/1 &< 34 35 69 8.4 60.6% 270 £V E F 8/22 &< 5 48] 56| 104 36.0] 68.0/%

211t | EAH= 8/15 |= < 5| 40| 41| 81| 20.4] 60.6 21 | SR 8/6 | % 38] 28] 99| 30.6] 68.4 %

212f | FEF 8/29 |& < 5| 41| 52| 93] 32.4] 60.6 212f2 | XY < E F 8/5 |=< 5 64 68 132] 63.6] 684

AN PE 8/1 &< 40| 34 74] 13.2] 60.8

2040 |/ N 8/23 &< 5 39| 41| 80| 19.2] 60.8

2150 |9 L/ 8/23 =< 5| 41| 39] 80| 19.2] 60.8

2160 | R 8/1 &< 41| 51| 98] 37.2] 60.8

217 | EJ¥< 8/26 | % 22| 33| 82.5 21.6 60.9

2180 NS 8/15 | % 28] 27| 82.5 21.6 60.9

219f |3k 8/12 | % 29] 32| 91.5 30.6] 60.9

2200 | XY < 3 8/24 [& {15 35 32| 61 6.0 61.0%

2210 A oA 8/8 |&< 5 38| 35 73] 12.0] 61.0

2000 |INS & 8/21 &< 5| 39| 46| 85 24.0] 61.0

2230 A=y | 8/29 &< 31| 35 72 10.8] 61.2

246 | FhLD 8/8 | % 28] 26| 81| 19.8] 61.2

2250 &) 8/28 | % 26| 28] 81| 19.8] 61.2

N PE 8/1 =< 43| 40| 83| 21.6] 61.4

21 | AA=> 8/8 | % 25 22| 70.5] 9.0 61.5

P SEPE] 8/21 | % 26/ 27| 79.5| 18.0] 61.5

EYES 8/23 |= {5 39| 37| 16| 14.4] 61.6

2300 (X< 5 8/22 |= < 5 39| 37| 16| 14.4] 61.6/ %

2315 | AAEF 8/8 | &< 40| 42] 82| 20.4] 61.6

23261 |[EZ A 8/17 |=< | 41| 47| 94 32.4] 61.6

233 | AR X 8/3 | % 26| 20| 69| 7.2 61.8

246 | FHR 8/23 |= {5 40| 41| 81| 19.2] 61.8

R EY 8/28 | % 32| 26| 87| 25 2] 61.8

2360 2~ 8/1 &< 5 36| 38 74 12.0] 62.0

RIS EL PN 8/15 |= < 5| 38| 42| 80| 18.0] 62.0

REEY D) 8/31| % 26| 31| 855 23.4] 62.1

2396 A9 X 8/5 |=< 5 39| 34 73] 10.8] 62.2

2000 =~ L5 8/10 | % 36| 32| 102] 39.6] 62. 4%

P-2 FHSY3—Fra—XA



